
1195 Kapp Dr 
Clearwater, FL 33765 
Phone (727) 443-4408 
Fax      (727) 443-1088 

www.Com-PacYachts.com 
Info@com-pacyachts.com 
 
 
 
 

 
 
Dear Com-Pac Yacht owners: 
 
The following is a list of frequently requested spare parts and model update parts for 
Com-Pac Yachts.   
 
These parts may be ordered from Hutchins Company by calling 727-443-4408, emailing 
info@com-pacyachts.com or faxing to 727-443-1088.  We take MasterCard/Visa, or can 
ship UPS/COD.  All orders will have shipping and handling charges added. 
 
We are pleased to handle custom and/or non-stock orders.  There will be a 25% non-
refundable fee for custom and/or non-stock orders.  There will be a $25 returned check 
fee.   
 
Products returned solely due to the ordering errors by the customer may be charged a 
10% re-stocking fee and will not be reimbursed for shipping costs.  Remember, your boat 
may have been customized after leaving the factory.  Hutchins Company can not be held 
responsible for any parts not fitting due to customizing.  
 
Please allow four to six weeks for delivery.  Prices may have changed.  Please call our 
office about any questions you have concerning your order or about any parts you do not 
see on the list. 
 
Thank you, 
 
Hutchins Company, Inc. 
 
 



COM-PAC 16 PARTS 

9/17/2010

CP-16 DECK& HULL UPDATE

RA00M0300 MAINSHEET SINGLE BLOCK W/BECKET $23.65 EA.

RA00M0006 MAINSHEET SWIVEL BASE $98.28 EA.

RA00S0090 GENOA TRACK 15"                    2 @ $30.00 EA. $60.00 PR.

RA00T0350 END CAPS                                     4 @ $3.87 EA. $15.48 SET

RA00S0410 SWIVELING BULLSEYE               2 @ $77.50 EA. $155.00 PR.

IN00B0070 BOWSPRIT COMPLETE 16/2 $390.00 EA.

RA00S0030 SS BOWRAIL 16/2 $194.50 EA.

MC00R0000 BOBSTAY 16/2 W/TURNBUCKLE $109.00 EA.

RA00B0260 BOBSTAY CHAINPLATE $17.54 EA.

CP 16 ELECTRICAL KIT

RA00S0390 SWITHCH PANEL - 4 SWITCHES $35.00 EA.

RA00L0020 BOW LIGHT $22.50 EA.

RA00L0040 STERN LIGHT $22.50 EA.

RA00L0031 LIGHT BRACKET $6.33 EA.

RA00C0020 CABIN LIGHT $25.00 EA.

RA00B0150 BATTERY BOX $15.50 EA.

IN00C0060 CHAIN LOCKER (OPTIONAL) $120.00 EA.

CP 16 HALYARD TO COCKPIT CONVERSION

MR00S0002 CHEEK BLOCKS                          2 @ $18.75 EA. $37.50 PR.

RA00C0032 CLEATS - PLASTIC                         2 @ $3.50 EA. $7.00 PR.

MR00R0270 MAIN HALYARD $58.50 EA.

MR00R0160 JIB HALYARD $56.25 EA.

CP 16 OWNER'S MANUAL $16.00 EA.

HANDBOOK OF TRAILER SAILING $14.00 EA.

TREASURE HUNTER/ARCHEOLOGIST ROBERT BURGESS

GIVES COMPLETE INFORMATION ABOUT CRUISING THE

COM-PAC YACHTS BY TRAILERING.

OPTIONAL EQUIPMENT AVAILABLE

OP024 TRANSOM BOARDING LADDER $299.00 EA.

OP017 BULKHEAD MOUNT COMPASS $352.00 EA.

OP043 SAILCOVER - Selected colors $207.00 ea.

OP108 HATCH SCREEN (10"X10" BLACK PLASTIC) $30.00 EA.

OP043 TEAK COCKPIT GRATE $650.00

OP048 CUSTOM TRAILER $1,799.00

1



COM-PAC 16 PARTS 

9/17/2010

OP186 SPARE TIRE & MOUNT $125.00 EA.

OP047 PORTABLE MARINE HEAD $155.00

OP026 BIMINI TOP - Selected colors $591.00

MRJSC0500 COCKPIT CUSHIONS 2" CLOSED CELL PVC $650.00

MRSSG0030 GENOA, 155% HANK ON $499.00

COM-PAC 16 PARTS LIST

FA00A0000 6 X 5/8 FHSMS PHIL $0.10 EA.

FA00A0001 6 X 3/4 FHSMS P $0.10 EA.

FA00A0002 6 X 1 FHSMS P $0.10 EA.

FA00A0003 6 X 1 1/2 FHSMS P $0.15 EA.

FA00A0005 5 x 1/2 FHSMS PHIL $0.10 EA.

FA00A0010 4 X 3/8 FHSMS P $0.10 EA.

FA00A0015 8 X 1/2 FHSMS P $0.10 EA.

FA00A0020 8 X 1 FHSMS PHIL $0.19 EA.

FA00A0030 8 FINISH WASHER $0.10 EA.

FA00A0040 8 X 3/8 SMS PAN HEAD PHIL $0.13 EA.

FA00A0045 8 X 3/4 FHSMS PHIL $0.14 EA.

FA00A0050 8 X 1/2 SMS PAN HEAD PHIL $0.12 EA.

FA00A0060 8-32 HN $0.10 EA.

FA00A0065 8-32 X 3/4 OHMS P $0.11 EA.

FA00A0070 8-32 X 1 OHMS P $0.22 EA.

FA00A0080 8-32 X 1 1/2 OHMS P $0.35 EA.

FA00A0090 8-32 X 2 OHMS P $0.37 EA.

FA00A0100 10 X 3/4 OHSMS $0.25 EA.

FA00A011 4 x 1/2 FHSMS PHIL $0.10 EA.

FA00A0110 10 FINISH WASHER $0.11 EA.

FA00A0120 10-24 ACORN NUT $0.63 EA.

FA00A0130 10 X 1 OHSMS P $0.29 EA.

FA00A0135 10 X 1 FHSMS P $0.25 EA.

FA00A0140 10 X 1 1/4 OHSMS P $0.35 EA.

FA00A0141 10 X 1 1/4 PHSMS PHIL $0.32 EA.

FA00A0150 10 X 1 3/4 OHSMS P $0.42 EA.

FA00A0151 10 X 2 OHSMS PHIL $0.42 EA.

FA00A0152 10 X 2 FHSMS P $0.37 EA.

FA00A0160 10-24 HN $0.13 EA.

FA00A0170 10-24 X 1 OHMS P $0.25 EA.

FA00A0179 10-24 X 2 FHMS P $0.50 EA.

FA00A0180 10-24 X 2 OHMS P $0.50 EA.

FA00A0181 10-24 X 3 OHMS P $0.89 EA.

FA00A0182 10 FLAT WASHER $0.10 EA.

FA00A0183 10-24 X 3 1/2 OHMS P $1.10 EA.

FA00A0185 12 X 1/2 FHSMS P $0.25 EA.

FA00A0190 14 X 2 FHSMS P $0.70 EA.

FA00A0200 1/4 FLAT WASHER $0.10 EA.

FA00A0210 1/4 X 1 1/2 HH LAG BOLT $0.70 EA.

2



COM-PAC 16 PARTS 

9/17/2010

FA00A0220 1/4-20 ACORN NUT $1.15 EA.

FA00A0230 1/4-20 LN $0.27 EA.

FA00A0235 1/4 - 20 WING NUT $1.00 EA.

FA00A0240 1/4-20 X 1 HHMB $0.60 EA.

FA00A0245 1/4-20 X 1 FHMS P $0.60 EA.

FA00A0246 1/4-20 X 1 3/4 HHMB $0.90 EA.

FA00A0247 1/4-20 X 1 1/4 FHMS P $0.80 EA.

FA00A0248 1/4-20 X 1 1/4 HHMB $0.80 EA.

FA00A0250 1/4-20 X 1 1/2  HHMB $0.85 EA.

FA00A0260 1/4-20 X 1 3/4 FHMS P $0.90 EA.

FA00A0270 1/4-20 X 2 HHMB $1.08 EA.

FA00A0280 1/4-20 X 2 1/2 HHMB $1.45 EA.

FA00A0290 1/4-20 X 3 FHMS P $1.50 EA.

FA00A0300 1/4-20 X 3 HHMB $1.50 EA.

FA00A0305 1/4 - 20 X 3 1/2 HHMB $1.60 EA.

FA00A0310 1/4-20 X 3/4 HHMB $0.50 EA.

FA00A0320 1/4-20 X 4 FHMS P $1.70 EA.

FA00A0322 1/4-20 X 1 CARRIAGE BOLT $0.60 EA.

FA00A0323 3/8-16 x 2 3/4 HHMB $2.69 EA.

FA00A0324 1/2-13 X 2 1/2 HHMB $4.95 EA.

FA00A0325 1/2-13 X 3 1/4 HHMB $5.00 EA.

FA00A0326 1/2-13 X 5 HHMB $6.81 EA.

FA00A0327 1/2-13 FLAT WASHER $0.48 EA.

FA00A0328 1/2-13 HN $0.60 EA.

FA00A0329 1/2-13 LN $1.45 EA.

FA00A0330 5/16 FLAT WASHER $0.14 EA.

FA00A0340 5/16 X 1 1/2 HHMB $1.00 EA.

FA00A0350 5/16-18 LN $0.40 EA.

FA00A0355 5/16 - 18 ACORN NUT $1.25 EA.

FA00A0360 5/16-18 X 2 FHMS P $1.23 EA.

FA00A0365 5/16 - 18 x 3 FHMS PHIL $1.60 EA.

FA00A0370 5/16-18 X 3 HHMB $1.60 EA.

FA00A0380 5/16-18 X 3 1/2 HHMB $1.80 EA.

FA00A0390 5/16 X 2 HHMB $1.20 EA.

FA00A0400 3/8 FLAT WASHER $0.17 EA.

FA00A0420 3/8-16 X 1 1/2 CB $1.50 EA.

FA00A0430 3/8-16 HN $0.45 EA.

FA00A0440 3/8-16 LN $0.80 EA.

FA00A0450 3/8-16 WING NUT $1.10 EA.

FA00A0455 3/8-16 ACORN NUT $1.50 EA.

FA00A0459 3/8 X 1 HHMB $1.50 EA.

FA00A0460 3/8-16 X 1 1/2 HHMB $1.90 EA.

FA00A0470 3/8-16 X 1 3/4 HHMB $1.90 EA.

FA00A0480 3/8-16  X 2 1/2 HHMB $2.50 EA.

FA00A0490 3/8-16 X 3 HHMB $2.95 EA.

FA00A0500 3/8-16 X 3-1/2 HHMB $3.20 EA.

FA00A0510 3/8 X 2 1/2 CB $1.80 EA.

3



COM-PAC 16 PARTS 

9/17/2010

FA00A0515 3/8-16 X 2 HHMB $2.00 EA.

FA00A0525 3/8 - 16 x 4 HHMB $3.50 EA.

FA00C0000 CAPLUG BLACK -  RH-10 $0.36 EA.

FA00C0005 CAPLUG WHITE - RH-10 $0.36 EA.

FA00C0010 CAPLUG WASHER - RHW 102 $0.38 EA.

FA00L0010 LOCK PRESS RIVET $0.36 EA.

FA00P0010 POP RIVET 1/2 ALUMINUM $0.28 EA.

IN00B0035 BOWEYE BLOCK - ALL $3.78 EA.

IN00B0040 BOWSPRIT INSERT ECLIPSE/16 $124.00 EA.

IN00B0070 BOWSPRIT COMPLETE ECLIPSE/16 $390.00 EA.

IN00C0060 CHAIN LOCKER 16/2 $120.00 EA.

IN00C0185 COMPRESSION POST – LEGACY, 16 $69.00 EA.

IN00D0000 DECK PANELS 16 $180.00 SET

IN00D0080 DROP BOARD SMALL 16 $55.32 EA.

IN00D0081 DRP BRD SM-SOLID TEAK 16 $295.00 EA.

IN00H0080 HOUND ASSEMBLY 16 $48.00 EA.

IN00H0120 HULL PANELS 16/2 $123.00 SET

IN00J0000 JOINT BATTEN KIT 16 $91.00 KIT

IN00R0000 RUDDER ASSEMBLY 16 $661.00 EA.

IN00S0031 SEAT BLANK 16/27/PC $132.00 EA.

IN00S0050 SEAT COCKPIT 16/3 $144.00 EA.

IN00S0080 SLIDE DROPBOARD16/19/23 $10.50 EA.

IN00S0100 SLIDE HATCH30 16 $22.75 EA.

IN00T0068 TILLER - ALL $90.50 EA.

MC00R0000 R BOBSTAY 16/2 $109.00 EA.

MC00R0037 R LIFELINE 16XL $164.00 SET

MC00R0080 R RUNNING RIGGING 16 $169.00 EA.

MC00R0130 R STANDING RIGGING 16 $357.00 EA.

MC00S0010 S BOOM COMPLETE 8 1/2- 16 $264.00 EA.

MC00S0020 S BOOM COMPLETE 7 8- 16CB $288.50 EA.

MC00S0050 S MAST COMPLETE 17 - 16/1 - 16/2 $475.25 EA.

MCAST0000 TILLER COVER $36.30 EA.

MCJSC0000 CUSHIONS - 16 $721.00 SET

MCJSJ0005 WORKING JIB (16/1  130% - 16II & UP  110%) $270.00 EA.

MCSSM0010 MAINSAIL (ALL MODELS) $493.00 EA.

MR00B0010 BOOM BAIL (STRIP HANGER) $6.12 EA.

MR00G0000 GEL COAT 1 PINT IN CAN $20.75 EA.

MR00G0010 GEL COAT GALLON IN CAN $97.75 EA.

MR00G0020 GEL COAT QUART IN CAN $33.25 EA.

MR00L0100 LADDER CLIP FOR SMALL BOA $10.50 EA.

MR00R0080 R GENOA SHEET 16 $41.25 EA.

MR00R0125 R HEADSTAY 16 $109.50 EA.

MR00R0160 R JIB HALYARD 16 $56.25 EA.

MR00R0200 R JIBSHEET 16 $20.25 EA.

MR00R0270 R MAIN HALYARD 16 $58.50 EA.

MR00R0310 R MAINSHEET 16 $25.25 EA.

MR00R0360 R SHROUD 16 $123.85 EA.

4



COM-PAC 16 PARTS 

9/17/2010

MR00S0000 S BOOM END $22.50 EA.

MR00S0002 CHEEK BLOCK $18.75 EA.

MR00S0035 S GOOSENECK ASSEMBLY $82.00 EA.

MR00S0040 S GOOSENECK CASTING 16/19/23 $20.20 EA.

MR00S0041 GOOSENECK SLIDE ONLY $19.66 EA.

MR00S0071 S SPREADER - 16/2 $18.00 EA.

MR00S0072 S SPREADER BASE -16/2 $8.50 EA.

MR00S0085 S MAST HEAD 16 $40.00 EA.

MR00S0200 SPORTS - HAT $25.50 EA.

MR00S0215 SPORTS - COM-PAC BELT $25.50 EA.

MR00S0225  T-SHIRT - HORIZON CAT $16.50 EA.

MR00S0240 SPORTS - SWEATSHIRT $48.00 EA.

MR00TC005 SPARE TIRE CARRIER, U BOLT $19.10 EA.

MRJSB0025 BATTEN SET CP-16 $48.75 EA.

MRJSS0146 SAIL SLUG-PLASTIC, 1/2 $1.20 EA.

MRJSS0147 SHACKLE, PLASTIC, PRESS FIT $1.70 EA.

RA00B0077 BRNZ BUSHING - RUDDER SMALL BOAT $2.70 EA.

RA00B0150 BATTERY BOX $15.50 EA.

RA00B0190 BILGE HOSE 1 1/2 $0.96 FT.

RA00B0210 BILGE PUMP $140.40 EA.

RA00B0218 BILGE HOSE CHECK VALVE-1-1/2 $26.10 EA.

RA00B0260 BOBSTAY CHAINPLATE 16/19 $17.54 EA.

RA00B0310 BOW EYE 3/8X 3 $5.60 EA.

RA00B0320 BOWSPRIT FRAME, ECLIPSE & 16 $224.50 EA.

RA00B0370 SS  BOW CAP - 16/19/23 $18.84 EA.

RA00B0390 SS TRANSOM CAP - 16/19/23 $18.12 EA.

RA00C0023 CABIN LIGHT ROUND, S.S. - 4" $25.00 EA.

RA00C0032 CLEAT - PLASTIC $3.50 EA.

RA00C0033 C-CLEAT MED. GREY CAP $27.50 EA.

RA00C0035 C-CLEAT MED. ROPE GUIDE $9.00 EA.

RA00C0050 CASTING GUDGEON/CP16 $37.50 EA.

RA00C0070 CASTING RUDDER/CP16 $231.10 EA.

RA00C0090 CAULKING - WHITE URETHANE $12.40 EA.

RA00C0100 CAULKING SILICONE - WHITE $9.40 EA.

RA00C0105 CAULKING - BLACK URETHANE $11.95 EA.

RA00C0106 CENTERBOARD ASSEMBLY-16 $578.12 EA.

RA00C0107 CENTERBOARD PLATE FOR C/P 16 $37.00 EA.

RA00C0110 CERTIFICATION DECAL $0.90 EA.

RA00C0135 CLEAT - TUBULAR JAM $4.25 EA.

RA00C0143 CLEAT 6" SS $27.95 EA.

RA00C0320 CARPET - WINTER WHEAT 72" $25.50 SQYD

RA00D0030 DECK PIPE - SMALL $22.80 EA.

RA00D0031 DECK PIPE HINGED - LARGE $88.75 EA.

RA00D0110 DRAIN SCUPPER $4.17 EA.

RA00D0112 DRAIN PLUG SNAP HANDLE $4.59 EA.

RA00E0000 ELECTRICAL CONNECTOR 2 PO $21.15 EA.

RA00E0001 BUS BAR, COMBINATION, 10 $12.75 EA.

5



COM-PAC 16 PARTS 

9/17/2010

RA00E0050 EYE STAINLESS $3.00 EA.

RA00E0060 EYEMOUNT $4.65 EA.

RA00F0050 F COMP HATCH 16 $189.38 EA.

RA00F0190 F LAZ HATCH 16 $150.00 EA.

RA00F0305 FLEX VENT $29.33 EA.

RA00G0060 GEOMETRIC HULL LINER $31.00 SQYD

RA00G0080 GRAY PAINT $65.55 GAL.

RA00H0065 HASP, SS $13.50 EA.

RA00H0073 10X10 BLACK HATCH - SUN CAT/LEG. $175.00 EA.

RA00I0011 INSPECTION DECKPLATE - 6" $15.00 EA.

RA00L0000 LACING HOOK $5.15 EA.

RA00L0020 LIGHT BI-COLOR $22.50 EA.

RA00L0025 LIGHT MASTHEAD (STEAMING) $22.50 EA.

RA00L0027 LIGHT MAST MOUNT BRACKET $21.80 EA.

RA00L0031 LIGHT BRACKET $6.33 EA.

RA00L0035 LIGHT RAIL BRACKET - BLACK $43.30 EA.

RA00L0040 LIGHT STERN $22.50 EA.

RA00L0045 LIGHT S-25 A/R ANCHOR $22.50 EA.

RA00M0040 MAST STEP 16/19 $25.75 EA.

RA00M0132 POLY BOARD FOR MOTOR BRKT $46.00 EA.

RA00M0006 MAINSHEET SWIVEL BASE - 16/19/23 $98.28 EA.

RA00M0300 SGL BLOCK W/BECKET - 16/19/23/ECL/LEG $21.00 EA.

RA00M0310 STANDUP BLOCK SWIVEL - 16/19/23 $36.00 EA.

RA00M0315 DOUBLE BLOCK, SWIVEL SHACKLE - 16/19/23 $40.50 EA.

RA00N0021 NON-SKID TAPE 1" WHITE $16.70 EA.

RA00P0460 PORTHOLE FRAME ALUM-16 $15.00 EA.

RA00P0461 PORTHOLE FRAME S.S.-16 $24.11 EA.

RA00R0070 RUBRAIL FLEXIBLE PVC, BLK 16/LEG $2.78 FT.

RA00R0090 RUDDER BLADE 16 $131.50 EA.

RA00R0135 RUDDER BLADE TENSION HANDLE $30.00 EA.

RA00S0030 SS BOWRAIL 16/2 $194.50 EA.

RA00S0055 SS STANCHION 16 - 14" (SET OF 2) $146.65 PR.

RA00S0065 SS STERNRAIL - 16 $240.00 SET

RA00S0090 SS TRACK 5/8-16/2 - 5' LENGTH $57.00 EA.

RA00S0110 SAILSTOP $15.00 EA.

RA00S0390 SWITCH PANEL - VERT. 4 SWITCH $35.00 EA.

RA00S0410 SWIVELING BULLSEYE 16 $77.50 EA.

RA00T0070 TANG 4 1/2 $3.64 EA.

RA00T0090 TANG 8 1/2 $4.68 EA.

RA00T0149 TAPE 2 PREMASK 2ML ALL COLORS $89.00 RL.

RA00T0159 GOLD CHROME TAPE - 1/2X 1 $28.00 RL.

RA00T0160 CHROME TAPE - 1/2X 150 $24.26 RL.

RA00T0161 GOLD MYLAR ARROW HEAD $1.10 EA.

RA00T0162 GOLD MYLAR LOGO $2.00 EA.

RA00T0170 TEAK BUNG $0.10 EA.

RA00T0310 TILLER STRAP $11.94 EA.

RA00T0350 TRACK ENDS 5/8 SS 16/2 $3.87 EA.

6



COM-PAC 16 PARTS 

9/17/2010

RA00Z0090 SAMPSON LS BRAID 3/16 -BLACK $0.48 EA.

RA00Z0095 SAMPSON L.S. 5/16 - WHITE $0.84 EA.

RA00Z0100 ZENITH 1/8 #4 - WHITE $0.26 EA.

7


